PROC NLMIXED DATA=davis.wachnew;

PARMS B0=0 B1=0 B2=0 B3=0 B4=0 B5=0 B6=0 B7=0 B8=0 B9=0 B10=0 B11=0 B12=0 B13=0 B14=0 B15=0 B16=0 SD=1;

Z = B0*time2 + B1*time3 + B2*time4 + B3*cat1*t1 + B4*cat2*t1 + B5*cat3*t1 + B6*cat4*t1 +B7*cat5*t1 + B8*cat6*t1 + B9*dose1*t1 + B10*dose2*t1 + B11*dose3*t1 + B12*agen*t1 + B13*dur*t1 + B14*dose1*agen*t1 + B15*dose2*agen*t1  + B16*dose3*agen*t1 +  U;  

IF (resp=1) THEN 

  P = 1 / (1 + EXP(-Z));

ELSE 

  P = 1 - (1 / (1 + EXP(-Z)));

LL = LOG(P);

MODEL resp ~ GENERAL(LL);

RANDOM U ~ NORMAL(0,SD*SD) SUBJECT=person;

ESTIMATE 'ICC' SD*SD/(3.289868134+SD*SD);

Run;

proc glimmix data=davis.wachnew ;

class person;

model resp(DESCENDING) = time2 time3 time4 cat1*t1 cat1*t1 cat2*t1 cat3*t1 cat4*t1 cat5*t1 cat6*t1 dose1*t1  dose2*t1 dose3*t1 agen*t1 dur*t1 dose1*agen*t1 dose2*agen*t1 dose3*agen*t1 /noint dist=binary solution ;

random person ;

run;
